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9;=<G<, 5. 

 

A2-2#P-$/$: L -9A,/,$ $C,' B-*"3)-" ?F#+62$ B*6%*<µµ$,$ %"$ -H<#+/#/ A#&9 

-B"5Cµ6F9 9$ -"?"+-C,6F9 #,6 µ<5/µ$. 

 

Y/4$/$ 4.7 

D,$ B2$7#"$ -9A. -*-C9/,"+6F B*6%*<µµ$,6. µ-,*'5/+$9 #- 500 <,6µ$ (<9,*-. +$" 

%C9$7+-.) ,6 FJ6. +$" ,6 1<*6.. E$ $B6,-23#µ$,$ %*<869,$" #- $*)-76 (+<*,-.), µ"$ 

%*$µµ' %"$ +<5- <,6µ6 µ- ,/9 -H'. µ6*8': ITYP(I),H(I),W(I) µ- FORMAT(I5,F10.0,F10.0) 

AB6C OEK=(O) -79$" 7 %"$ <9,*-. +$" 8 %"$ %C9$7+-. +$" L(O),W(I) ,6 FJ6. #- -+$,6#,< +$" ,6 

1<*6. #- +"2< $9,7#,6")$. Q$ #C9,$)5-7 B*A%*$µµ$ B6C 9$ ?"$1<T-" ,6 $*)-76 +$" 9$ 1*7#+-" 

(+$" -+,CB:9-") ,$ $+A26C5$: 

• ,69 $*"5µA ,&9 %C9$"+:9 NWOM +$" ,&9 $9?*:9 NMAN 

• ,6 µ3#6 1<*6. A2&9 ,&9 $,Aµ&9 AVW 

• ,6 µ3#6 FJ6. A2&9 ,&9 $,Aµ&9 AVH 

• ,6 µ3#6 1<*6. ,&9 %C9$"+:9   (AVWOM) 

• ,6 µ3#6 1<*6. ,&9 $9?*:9 (AVMAN) 

• BA#-. %C9$7+-. LWOM 3)6C9 1<*6. B<9& $BA ,6 µ3#6 1<*6. 

• BA#6" <9,*-. LMAN 3)6C9 FJ6. +<,& $BA ,6 µ3#6 FJ6.. 

 

>U/$: 

 

DIMENSION ITYP(500),H(500),W(500) 

      READ (5,1000) (ITYP(N),H(N),W(N),N=1,500,1) 

 1000 FORMAT(I5,2F10.0) 

      DO 100 N=1,500,1 

      IF (ITYP(N).EQ.7) GOTO 50 

      AVWOM=AVWOM+W(N) 

      NWOM=NWOM+1 

   50 AVH=AVH+H(N) 

      AVW=AVW+W(N) 
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  100 CONTINUE 

      NMAN=500-NWOM 

      AVMAN=AVW-AVWOM 

      AVW=AVW/500. 

      X=NWOM 

      AVWOM=AVWOM/X 

      X=NMAN 

      AVMAN=AVMAN/X 

      AVH=AVH/500. 

      DO 200 L=1,500,1 

      IF (ITYP(L).EQ.8.AND.W(L).GT.AVWOM) LWOM=LWOM+1 

      IF (ITYP(L).EQ.7.AND.H(L).LT.AVH) LMAN=LMAN+1 

  200 CONTINUE 

      WRITE(6,1100) NWOM,NMAN 

 1100 FORMAT(1HO,I3,1X,I3) 

      WRITE(6,1200) AVH,AVW 

 1200 FORMAT(1X,F10.4,/,1X,F10.4) 

      WRITE(6,1300) AVWOM,AVMAN 

 1300 FORMAT(2(1X,F10.4)) 

      WRITE(6,1100) LWOM,LMAN 

      STOP 

      END 

 

Y/4$/$ 4.8 

D- +C+2"+' ?"$,6µ' CB6#,C2:µ$,6. $BA 6B2"#µ396 #+C*A?-µ$ B*3B-" 9$ 

,6B65-,/5-7 39$. $*"5µA. )$2F1?"9&9 *<1?&9 B-*"µ-,*"+< #- $+,79$ R (cm). ;79-,$" A," 6 

$*"5µA. ,&9 *<1?&9 B*3B-" 9$ -79$" ,6C2<)"#,69 6, 9$ 3)6C9 A2-. ,/9 7?"$ ?"<µ-,*6 +$" 9$ 

"#$B3)6C9 B-*"µ-,*"+< µ-,$HF ,&9. L -2<)"#,/ B-*"µ-,*"+' $BA#,$#/ ,&9 +39,*&9 -79$" 

4cm. ;"$,"53µ-9-. ?"$,6µ3. *<1?&9 -79$" 14,16,18,20, 22 cm. DC962"+A -µ1$?A9 *<1?&9 

,6C2<)"#,6 4 cm 2 . Q$ #C9,$)5-7 B*A%*$µµ$ B6C 9$ +<9-" ,$ $+A26C5$: 

• ;"<1$#µ$ ?-?6µ39&9 (R,A) µ- format ,/. -B"26%'. #$. 

• -F*-#/ ,6C $B$",6Fµ-96C $*"5µ6F *<1?&9 NBAR(I) +$" ,6 #C962"+A ,6C. -µ1$?A9 

AREA(I) %"$ +<5- µ"$ $BA ,". ?"$,"53µ-9-. ?"$µ3,*6C.. 


